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S 104508 01 H(A)|[ £#104408 A02H ()| £#1044508 B03H(K)| £F104408 H04 B (K)| £ #104408 H05H(£)| £ #104508 06 H(X)| £#104E08 A07H(H)
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W) Z 2z & LSF A

IpLE— 1551kcal|ZL% = 1554kcal[T)L% = 1619kcal|[Z)L% = 1637kcal|[T)L¥ = 1672kcal|[T)L% = 1518kcal|TH)L¥ = 1557kcal
FA=k-1 51.7g|EHE 55.1g|EHE 42.3g|EHE 48.4g|EHE 54.5g|EHE 57.1g|ERE 52.6g
il N 408mg by L 483mg by L 427Tmg [Hlby L 430mg by L 526meg AL 489mg|hlbyr) L 391mg
% 5.9mg |8k 5.4mg |8k 5.4mg |8k 6.7mg |8k 12.2me|#% 10.5me|#% 4.5mg
B HhoTy 3979 1 g| B HATY 4907 1 g| B HATY 5040 1 g| B HATY 2822 1 g| BHATY 2237 1 g| BHATY 4872 u g| B HATY 2886 u g
E'43VB1 0.76mg|E43YB1 0.55mg|E43YB1 0.64mg|E43YB1 0.45mg|E43YB1 0.53mg|E43YB1 0.75mg|E43YB1 0.59mg
E'43B2 0.75mg|E43YB2 0.73mg|E43YB2 0.64mg|E43YB2 0.72mg|E43YB2 0.76mg|E43YB2 Img|E43vB2 1.0lmg
E'435C 54mg|E43VC 47mg|E 9300 96mg|E 4300 56mg|E43VC 39mg|E 430 65mg|E43VC 79mg
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004408 5088 (B)| £#104408 09 H ()| £ F104E08 H10HUK) | £F104408 A 11 BCK)| £#104508 B 12H (%) | 104408 B 138 (1) £#104508 8 14H(H)
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HITLRBOWDE (G IXFEFiR) |FACGIIE) AT IH AV, = BHREDINEDOYTTH )LD LD HF
A A A L BRI VW) Z B (k) OB DY 2 ONIrZ
IRLE — 1558kcal[T)L¥ = 1586kcal|[T)L¥ — 1593kcal[T)L% = 1562kcal|[T)L% = 1674kcal|T)% = 1567kcal|[T)L¥ = 1556kcal
EA=}=1 heg|BERE 57.1g|ERE 45.6g|EBE 54.8¢|EAE 56.4g|EAE 54.3g|&EBE 51.4g
il N 357Tme|hY L 527me Ay L 378meg Ay L 422mg [y L 40Tme Ay L 386mg|hby L 606mg
% 5.1mg |8k 7.8mg |8k 7.8mg |8k 6.8mg |8k Sme|#% 4.8mg |8k 4.8mg
B hATy 1125 1 g| BHBTY 1365 1 2| BTV 2967 u g| B HATY 1493 1 g| B BTV 3353 u g| B HATY 2704 11 g| B HATY 1766 u g
E'43YB1 1.07mg|E43YB1 0.5mg|E43YB1 0.69mg|E43VB1 0.58mg|E43VB1 0.72mg|E43VB1 0.57mg|E43YB1 0.79mg
E'43vB2 0.9mg|E43YB2 0.89mg|E43YB2 0.85mg|E43YB2 0.78mg|E43YB2 0.77mg|E43YB2 0.73mg|E43YB2 0.99mg
E'435C 61mg|E43VC 55mg|E 430 87mg|E43VC 45mg|E 4300 116mg|E'43YC 69mg|E 4300 71mg
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IRLE — 1627kcal|T)L% = 1562kcal[T)L% = 1723kcal|[T)% = 1550kcal [T)L% = 1580kcal[T)L¥ = 1616kcal|[T)L¥ = 1645kcal
EA=}=1 51.1g|ERE 52.4¢|EAE 51.3g|ERE 56.9¢|EBE 51.1g|ERE 48.82|&EBHE 62.3g
il N 359me Ay L 420mg [y L A74mg|hby L 516mg|Aly L 523meg Ay L 586mg|hby L 424mg
% 4.3mg |8k 5.7mg |8k 3.7mg |8k 8.2mg | &% 6.7mg |8k 4.6mg |8k 8.9mg
B hATy 1728 u g| B ATV 2716 u g| B HATY 1337 1 g| B BTV 5331 u g| B HATY 3397 u g| B HATY 3380 1z g| B HATY 168lug
E'43vB1 0.76mg|E43VB1 0.73mg|E43VB1 0.89mg|E43VB1 0.58mg|E43VB1 0.65mg|E43VB1 0.66mg|E43B1 0.61mg
E'43vB2 0.75mg|E43YB2 0.81mg|E43YB2 0.99mg|E43VB2 0.86mg|E43YB2 0.77mg|E43YB2 0.79mg|E43YB2 0.96mg
E'435C 108mg[E'43YC 59mg|E 430 62mg|E 4300 69mg|E 4300 50mg|E43VC 95mg|E 4300 68mg
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FERNOYIH AV, = 2 NBZ OB TEEE S AT Ay S
K DY {mE: [ DR
IRLE — 1598kcal [T)L¥ — 1565kcal[T)L¥ — 1523kcal|[T)L% = 1597kcal|T)L% = 1634kcal|[T)L% = 1582kcal|[T)L¥ = 1558kcal
EA=}=1 48.92|&EBHE 53.2g|&EBE 53.4g|&EBE 57.82|&EBE 62.2g|&EEHE 51.6g|ERE 58.5g
[0 401mg|hly) L 406mg Ay L 526mg|hlyh 451mg|hly) L 463mg|hly) L 409mg Ay L 441mg
% 6.4mg |8k 5.7mg |8k 4.5mg |8k 5.6mg |8k 9.6mg | &%k 4.3mg |8k 7.3mg
B hATy 1262 1 g| BTV 2415 u g| B HATY 2528 u g| B HATY 2468 u g| B HATY 1283 1 g| B BTV 1688 1 g| B ARTY 4156 1 g
E'43vB1 0.46mg|E43VB1 0.52mg|E43VB1 0.59mg|E43VB1 0.46mg|E43VB1 0.61mg|E43VB1 0.5mg|E43YB1 0.61mg
E'43vB2 0.77mg|E43YB2 0.74mg|E43YB2 0.83mg|E43YB2 0.85mg|E43YB2 0.96mg|E43YB2 0.81mg|E43YB2 0.99mg
E'43vC 31mglE%4EuC 29mg|E%430C 74mg|E43UC 55meg|E43uC 109mg|E430C 86mg|E43uC 68mg
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DYAHE
IE— 1522kcal |[TE = 1573kcal |[TpE = 1555kcal |[TRE = kcal|TRIF = kcal|TRIF = kcal|[I# ¥ = kcal
FA=h=1 53.4g|&EBE 59.9¢2|&EHE 52.82|&EHE g|EBRE g|EBRE g|EBRE g
Ay L 505mg [hbYIL 368mg YL 402mg [y L mg |y L mg |y L mg |y L mg
% 9.7mg |8k 5.8mg | &k 4.5mg |8k mg |k mg |k mg |k mg
B hATY 1850 1 g| B AATY 1966 1 g| B AATY 1728 u g| B HATY wg|BHATY wg|BHATY wg|BHATY ug
E'43B1 0.556mg|E'43YB1 0.46mg|E'43YB1 0.48mg|E'43YB1 mg|E'43YB1 mg|E'43YB1 mg|E'43YB1 mg
E'43YB2 0.81mg|E'43YB2 0.7mg|E93YB2 0.72mg|E'43YB2 mg|E'43YB2 mg|E'43VB2 mg|E'43YB2 mg
E'435C 42mg|E 9300 107mg|E'43YC 42mg|E 9300 mg|E'43YC mg|E'43YC mg|E'430C mg




